

On approximation theorems for two-dimensional Szasz operator

Rovshan A. Bandaliyev · Aynur N. Mammadova

Received: 06.11.2016 / Revised: 16.04.2017/ Accepted: 21.05.2017

Abstract. *In the paper, we study some properties of two-dimensional Szasz operator and we find certain moments of this operator. In particular, we proved point-wise convergence of the derivative of Szasz operator to the corresponding derivatives of two-variable function.*

Keywords. linear positive operator, two-variable function, Szasz operator, approximation theorem.

Mathematics Subject Classification (2010): 41A36, 41A65

1 Introduction

Approximation theory plays an important role in mathematical analysis and other branches of mathematics. The results of theory of approximation is generally related to positive linear operators, and deals with rate of convergence and order of approximation. Weierstrass was the first who gave an important theorem, namely, Weierstrass approximation theorem in this regard. The aim of this theorem is to minimize the maximum value of $|f(x) - P_n(x)|$ for the continuous functions $f(x)$ on $[a, b]$, where $P_n(x)$ is the polynomial of degree n . The proof of this theorem was considered very difficult until Bernstein gave an elegant and simple proof of it. Bernstein [5] defined the positive linear operators using binomial distribution in the following way

$$B_n(f; x) = \sum_{k=0}^n P_{n,k}(x) f\left(\frac{k}{n}\right), \quad n = 1, 2, 3, \dots, k = 0, 1, 2, 3, \dots \quad (1.1)$$

where $P_{n,k}(x) = \binom{n}{k} (x)^k (1-x)^{n-k}$ and proved pointwise and uniform approximation in the space of continuous functions on $[0, 1]$. These operators provide the powerful tool for numerical analysis, computer added geometric design (CAGD) and solutions of differential equations. But these operators are not suitable for discontinuous functions. Later on,

R.A. Bandaliyev
Institute of Mathematics and Mechanics of NAS of Azerbaijan, Baku, Azerbaijan
E-mail: bandaliyev.rovshan@math.ab.az

A.N. Mammadova
Institute of Mathematics and Mechanics of NAS of Azerbaijan, Baku, Azerbaijan
E-mail: ay.mammadova@yahoo.com

Kantorovich [11] generalized the Bernstein operators for integrable functions as

$$K_n(f; x) = (n+1) \sum_{k=0}^n P_{n,k}(x) \int_{\frac{k}{n+1}}^{\frac{k+1}{n+1}} f(t) dt, \quad k = 0, 1, 2, 3, \dots, n = 1, 2, 3, \dots,$$

where $P_{n,k}(x) = \binom{n}{k} (x)^k (1-x)^{n-k}$, $0 \leq x \leq 1$. Szasz [18] introduced linear positive operators in the sense of exponential growth on non-negative semi-axis

$$S_n(f; x) = e^{-nx} \sum_{k=0}^{\infty} f\left(\frac{k}{n}\right) \frac{(nx)^k}{k!}, \quad n = 1, 2, \dots \quad (1.2)$$

where $f \in C[0, \infty)$. Several generalizations of this operator have been studied by different researchers ([1]-[4], [6], [15], [16]). A generalization of operator (1.2) was given by Stancu [17] depending on the parameters α and β such that $0 \leq \alpha \leq \beta$ on $[0, 1]$. Many operators preserve the constant and linear functions, but these operators do not preserve x^2 . King [12] introduced a method in order to preserve x^2 for the Bernstein operators. In [7]-[9], [13], [14] various variants of the sequences of linear positive operator and its particular case was considered and some approximation theorems in non-weighted and weighted spaces of continuous functions were proved.

2 Preliminaries and auxiliary results

Consider the two-dimensional Szasz operator defined in [19] as

$$S_{n,m}(f; x, y) = e^{-nx} e^{-my} \sum_{k,l=0}^{\infty} f\left(\frac{k}{n}, \frac{l}{m}\right) \frac{(nx)^k}{k!} \frac{(my)^l}{l!}, \quad n, m = 1, 2, \dots, \quad (2.1)$$

where $f(t, \tau) \in C(R_+^2)$.

Lemma 2.1 *If the r -th derivative $f^{(r)}(x, y)$ exists and $f^{(r)}(x, y) = O((x+y)^k)$ as $x \rightarrow \infty, y \rightarrow \infty$, for some $k > 0$, and if $f^{(r)}(x, y)$ is continuous at the point $x = \xi, y = \eta$, then $S_{n,m}^{(r)}(x, y)$ approaches $f^{(r)}(x, y)$ at $x = \xi, y = \eta$.*

The proof of Lemma 2.1 is analogous to the proof of result in [20].

Lemma 2.2 *The following identity holds*

$$\sum_{k,l=0}^{\infty} (k-n)^2 (l-m)^2 \frac{n^k m^l}{k! l!} = nme^{n+m}.$$

Proof.

$$\begin{aligned} & \sum_{k,l=0}^{\infty} (k^2 - 2kn + n^2) (l^2 - 2lm + m^2) \frac{n^k m^l}{k! l!} \\ &= \sum_{k=0}^{\infty} \left(k^2 \frac{n^k}{k!} - 2kn \frac{n^k}{k!} + n^2 \frac{n^k}{k!} \right) \sum_{l=0}^{\infty} \left(l^2 \frac{m^l}{l!} - 2lm \frac{m^l}{l!} + m^2 \frac{m^l}{l!} \right) \end{aligned}$$

$$\begin{aligned}
&= \sum_{k=0}^{\infty} \left(k \frac{n^k}{(k-1)!} - 2n \frac{n^k}{(k-1)!} + n^2 \frac{n^k}{k!} \right) \sum_{l=0}^{\infty} \left(l \frac{m^l}{(l-1)!} - 2m \frac{m^l}{(l-1)!} + m^2 \frac{m^l}{l!} \right) \\
&= \left(\sum_{k=0}^{\infty} \left((k+1) \frac{n^{k+1}}{k!} - 2n \frac{n^{k+1}}{k!} \right) + n^2 e^n \right) \\
&\times \left(\sum_{l=0}^{\infty} \left((l+1) \frac{m^{l+1}}{l!} - 2m \frac{m^{l+1}}{l!} \right) + m^2 e^m \right) \\
&= \left(\sum_{k=0}^{\infty} \left(n(k+1) \frac{n^k}{k!} - 2n^2 \frac{n^k}{k!} \right) + n^2 e^n \right) \\
&\times \left(\sum_{l=0}^{\infty} \left(m(l+1) \frac{m^l}{l!} - 2m^2 \frac{m^l}{l!} \right) + m^2 e^m \right) \\
&= \left(\sum_{k=0}^{\infty} \left(nk \frac{n^k}{k!} + n \frac{n^k}{k!} \right) - 2n^2 e^n + n^2 e^n \right) \\
&\times \left(\sum_{l=0}^{\infty} \left(ml \frac{m^l}{l!} + m \frac{m^l}{l!} \right) - 2m^2 e^m + m^2 e^m \right) \\
&= \left(\sum_{k=0}^{\infty} n \frac{n^k}{(k-1)!} + ne^n - 2n^2 e^n + n^2 e^n \right) \\
&\times \left(\sum_{l=0}^{\infty} m \frac{m^l}{(l-1)!} + me^m - 2m^2 e^m + m^2 e^m \right) \\
&= \left(\sum_{k=0}^{\infty} n^2 \frac{n^k}{k!} + ne^n - 2n^2 e^n + n^2 e^n \right) \\
&\times \left(\sum_{l=0}^{\infty} m^2 \frac{m^l}{l!} + me^m - 2m^2 e^m + m^2 e^m \right) \\
&= (n^2 e^n + ne^n - 2n^2 e^n + n^2 e^n) (m^2 e^m + me^m - 2m^2 e^m + m^2 e^m) = nme^n e^m.
\end{aligned}$$

The proof of Lemma 2.2 is complete.

Lemma 2.3 For $0 < \delta < 1$

$$\sum_{|k-n|>n\delta} e^{-n} \frac{n^k}{k!} = O\left(e^{-\frac{\delta^2 n}{3}}\right), \quad n \rightarrow \infty,$$

$$\sum_{|l-m\eta|>m\delta} e^{-m} \frac{m^l}{l!} = O\left(e^{-\frac{\delta^2 m}{3}}\right), \quad m \rightarrow \infty.$$

Let $u_m = u_m(x) = e^{-x} \frac{x^m}{m!}$, ($m = 0, 1, 2, \dots$), so that $\sum_{m=0}^{\infty} u_m(x) = 1$.

If $m = M + h$ and $0 < \delta < 1$, then

$$\sum_{|h|>\delta x} u_m = O\left(e^{-\frac{1}{3}\delta^2 x}\right), \quad h = m - M.$$

Proof. It is obvious that $\frac{u_{m+1}}{u_m} = \frac{x}{m+1}$.

Next, we divide $\sum u_m$ or $\sum u_{M+h}$ into the five pieces:

$$\begin{aligned} \sum_{m=0}^{\infty} u_m &= \sum_{h=-M} u_{M+h} = \sum_{-M \leq h < -\delta x} u_{m+h} + \sum_{-\delta x \leq h < -x^\xi} u_{m+h} \\ &+ \sum_{|h| \leq x^\xi} u_{m+h} + \sum_{x^\xi < h \leq \delta x} u_{m+h} + \sum_{h > \delta x} u_{m+h} \\ &= \sum_{m=0}^{M_1-1} u_m + \sum_{m=M_1}^{M_2-1} u_m + \sum_{m=M_2}^{M_3} u_m + \sum_{m=M_3+1}^{M_4} u_m \\ &+ \sum_{m=M_4+1}^{\infty} u_m = S_1 + S_2 + S_3 + S_4 + S_5. \end{aligned}$$

(x being large enough to make $x^\xi < \delta x$), where

$$M_1 = [x] - [\delta x], M_2 = [x] - [x^\xi], M_3 = [x] + [x^\xi], M_4 = [x] + [\delta x].$$

It is easy to see that

$$S_1 = O(xu_{M_1}), S_2 = O(xu_{M_2}), S_4 = O(xu_{M_3}).$$

Also $M_4 + 2 > x + \delta x$, and so

$$\begin{aligned} S_5 &= u_{M_4+1} \left\{ 1 + \frac{x}{M_4+2} + \frac{x^2}{(M_4+2)(M_4+3)} + \dots \right\} \\ &< u_{M_4} \left(1 + \frac{1}{1+\delta} + \frac{1}{(1+\delta)^2} + \dots \right) = O(u_{M_4}). \end{aligned}$$

Hence, in order to prove Lemma 2.3, it is enough to prove that

$$u_{M_1} = O\left(e^{-\frac{\delta^2 x}{3}}\right), u_{M_4} = O\left(e^{-\frac{\delta^2 x}{3}}\right).$$

Now

$$u_{M_1} = e^{-x} \frac{x^{M_1}}{M_1!} < e^{-x+M_1} \left(\frac{x}{M_1}\right)^{M_1}$$

and

$$x - \delta x - 1 < M_1 = [x] - [\delta x] < x - \delta x + 1.$$

Hence

$$\begin{aligned} u_{M_1} &= O\left(e^{-\delta x} \left(\frac{x}{x - \delta x - 1}\right)^{x - \delta x + 1}\right) \\ &= O\left(e^{-\delta x} \left(\frac{1}{1 - \delta}\right)^{x - \delta x}\right) = O(e^{-\Delta x}), \end{aligned}$$

where

$$\Delta = \delta - (1 - \delta) \ln \frac{1}{1 - \delta} = \frac{\delta^2}{1 \cdot 2} + \frac{\delta^3}{2 \cdot 3} + \frac{\delta^4}{3 \cdot 4} + \dots > \frac{\delta^2}{2}.$$

Similarly

$$u_{M_4} = O \left(e^{\delta x} \left(\frac{1}{1+\delta} \right)^{x+\delta x} \right) = O \left(e^{-\Delta' x} \right),$$

where

$$\Delta' = -\delta + (1+\delta) \ln(1+\delta) = \frac{\delta^2}{1 \cdot 2} - \frac{\delta^3}{2 \cdot 3} + \frac{\delta^4}{3 \cdot 4} - \dots > \frac{\delta^2}{3}.$$

This completes the proof of Lemma 2.3.

Remark 2.1 We note that for Lemma 2.3 was proved in [10]. We need some application of Lemma 2.3.

3 Main results

Now we formulate the following theorem.

Theorem 3.1 Let $f(x, y)$ is bounded in the interval $0 \leq x \leq R_1$, $0 \leq y \leq R_2$ for every $R > 0$, $f(x, y) = O((x+y)^u)$, $x \rightarrow \infty$, $y \rightarrow \infty$, for some $u > 0$, and let at every point

ξ, η the derivatives of second order is exists. Then

- $\lim_{n \rightarrow \infty} \frac{\partial}{\partial x} S_{n,m}(f; x, y) \Big|_{(x,y)=(\xi,\eta)} = \frac{\partial}{\partial x} f(x, y) \Big|_{(x,y)=(\xi,\eta)}$,
- $\lim_{m \rightarrow \infty} \frac{\partial}{\partial y} S_{n,m}(f; x, y) \Big|_{(x,y)=(\xi,\eta)} = \frac{\partial}{\partial y} f(x, y) \Big|_{(x,y)=(\xi,\eta)}$,
- $\lim_{\substack{n \rightarrow \infty \\ m \rightarrow \infty}} \frac{\partial^2}{\partial x \partial y} S_{n,m}(f; x, y) = \frac{\partial^2}{\partial x \partial y} f(x, y) \Big|_{(x,y)=(\xi,\eta)}$.

Proof. We must prove that

- $\frac{\partial}{\partial x} S_{n,m}(f; x, y) \rightarrow f'_x(\xi, y)$, $n \rightarrow \infty$, for fixed $y \in [0, \infty)$;
- $\frac{\partial}{\partial y} S_{n,m}(f; x, y) \rightarrow f'_y(x, \eta)$, $m \rightarrow \infty$, for fixed $x \in [0, \infty)$;
- $\frac{\partial^2}{\partial x \partial y} S_{n,m}(f; x, y) \rightarrow \frac{\partial^2 f}{\partial x \partial y} \Big|_{(x,y)=(\xi,\eta)}$, $n, m \rightarrow \infty$.

By (2.1), we find the partial derivative of operator $S_{n,m}(f; x, y)$ with respect to the variable x :

$$\begin{aligned} \frac{\partial}{\partial x} S_{n,m}(f; x, y) &= -ne^{-nx} e^{-my} \sum_{k,l=0}^{\infty} f\left(\frac{k}{n}, \frac{l}{m}\right) \frac{(nx)^k}{k!} \frac{(my)^l}{l!} \\ &\quad + ne^{-nx} e^{-my} \sum_{k,l=0}^{\infty} f\left(\frac{k}{n}, \frac{l}{m}\right) k \frac{(nx)^{k-1}}{k!} \frac{(my)^l}{l!} \\ &= -ne^{-nx} e^{-my} \sum_{k,l=0}^{\infty} f\left(\frac{k}{n}, \frac{l}{m}\right) \frac{(nx)^k}{k!} \frac{(my)^l}{l!} \\ &\quad + ne^{-nx} e^{-my} \sum_{k,l=0}^{\infty} f\left(\frac{k+1}{n}, \frac{l}{m}\right) \frac{(nx)^k}{k!} \frac{(my)^l}{l!} \\ &= ne^{-nx} e^{-my} \sum_{k,l=0}^{\infty} \left[f\left(\frac{k+1}{n}, \frac{l}{m}\right) - f\left(\frac{k}{n}, \frac{l}{m}\right) \right] \frac{(nx)^k}{k!} \frac{(my)^l}{l!}. \end{aligned}$$

Now we find the mixed derivative of operator $S_{n,m}(f; x, y)$ with respect to the variable y :

$$\begin{aligned}
& \frac{\partial^2}{\partial x \partial y} S_{n,m}(f; x, y) \\
&= -nme^{-nx} e^{-my} \sum_{k,l=0}^{\infty} \left[f\left(\frac{k+1}{n}, \frac{l}{m}\right) - f\left(\frac{k}{n}, \frac{l}{m}\right) \right] \frac{(nx)^k}{k!} \frac{(my)^l}{l!} \\
&+ ne^{-nx} e^{-my} \sum_{k,l=0}^{\infty} \left[f\left(\frac{k+1}{n}, \frac{l}{m}\right) - f\left(\frac{k}{n}, \frac{l}{m}\right) \right] \frac{(nx)^k}{k!} ml \frac{(my)^{l-1}}{l!} \\
&= -nme^{-nx} e^{-my} \sum_{k,l=0}^{\infty} \left[f\left(\frac{k+1}{n}, \frac{l}{m}\right) - f\left(\frac{k}{n}, \frac{l}{m}\right) \right] \frac{(nx)^k}{k!} \frac{(my)^l}{l!} \\
&+ nme^{-nx} e^{-my} \sum_{k,l=0}^{\infty} \left[f\left(\frac{k+1}{n}, \frac{l+1}{m}\right) - f\left(\frac{k}{n}, \frac{l+1}{m}\right) \right] \frac{(nx)^k}{k!} \frac{(my)^l}{l!} \\
&= mne^{-nx} e^{-my} \sum_{k,l=0}^{\infty} \left[f\left(\frac{k+1}{n}, \frac{l+1}{m}\right) - f\left(\frac{k}{n}, \frac{l+1}{m}\right) \right. \\
&\quad \left. - f\left(\frac{k+1}{n}, \frac{l}{m}\right) + f\left(\frac{k}{n}, \frac{l}{m}\right) \right] \frac{(nx)^k}{k!} \frac{(my)^l}{l!}.
\end{aligned}$$

Similarly, we get that

$$\begin{aligned}
\frac{\partial}{\partial y} S_{n,m}(f; x, y) &= -me^{-nx} e^{-my} \sum_{k,l=0}^{\infty} f\left(\frac{k}{n}, \frac{l}{m}\right) \frac{(nx)^k}{k!} \frac{(my)^l}{l!} \\
&+ me^{-nx} e^{-my} \sum_{k,l=0}^{\infty} f\left(\frac{k}{n}, \frac{l}{m}\right) l \frac{(nx)^k}{k!} \frac{(my)^{l-1}}{l!} \\
&= -me^{-nx} e^{-my} \sum_{k,l=0}^{\infty} f\left(\frac{k}{n}, \frac{l}{m}\right) \frac{(nx)^k}{k!} \frac{(my)^l}{l!} \\
&+ me^{-nx} e^{-my} \sum_{k,l=0}^{\infty} f\left(\frac{k}{n}, \frac{l+1}{m}\right) \frac{(nx)^k}{k!} \frac{(my)^l}{l!} \\
&= me^{-nx} e^{-my} \sum_{k,l=0}^{\infty} \left[f\left(\frac{k}{n}, \frac{l+1}{m}\right) - f\left(\frac{k}{n}, \frac{l}{m}\right) \right] \frac{(nx)^k}{k!} \frac{(my)^l}{l!},
\end{aligned}$$

and

$$\begin{aligned}
& \frac{\partial^2}{\partial y \partial x} S_{n,m}(f; x, y) \\
&= -nme^{-nx} e^{-my} \sum_{k,l=0}^{\infty} \left[f\left(\frac{k}{n}, \frac{l+1}{m}\right) - f\left(\frac{k}{n}, \frac{l}{m}\right) \right] \frac{(nx)^k}{k!} \frac{(my)^l}{l!} \\
&+ me^{-nx} e^{-my} \sum_{k,l=0}^{\infty} \left[f\left(\frac{k}{n}, \frac{l+1}{m}\right) - f\left(\frac{k}{n}, \frac{l}{m}\right) \right] kn \frac{(nx)^{k-1}}{k!} \frac{(my)^l}{l!}
\end{aligned}$$

$$\begin{aligned}
&= -nme^{-nx}e^{-my} \sum_{k,l=0}^{\infty} \left[f\left(\frac{k}{n}, \frac{l+1}{m}\right) - f\left(\frac{k}{n}, \frac{l}{m}\right) \right] \frac{(nx)^k (my)^l}{k! l!} + \\
&+ mne^{-nx}e^{-my} \sum_{k,l=0}^{\infty} \left[f\left(\frac{k+1}{n}, \frac{l+1}{m}\right) - f\left(\frac{k+1}{n}, \frac{l}{m}\right) \right] \frac{(nx)^k (my)^l}{k! l!} \\
&= mne^{-nx}e^{-my} \sum_{k,l=0}^{\infty} \left[f\left(\frac{k+1}{n}, \frac{l+1}{m}\right) - f\left(\frac{k+1}{n}, \frac{l}{m}\right) \right. \\
&\quad \left. - f\left(\frac{k}{n}, \frac{l+1}{m}\right) + f\left(\frac{k}{n}, \frac{l}{m}\right) \right] \frac{(nx)^k (my)^l}{k! l!}. \tag{3.1}
\end{aligned}$$

Thus

$$\frac{\partial^2}{\partial x \partial y} S_{n,m}(f; x, y) = \frac{\partial^2}{\partial y \partial x} S_{n,m}(f; x, y).$$

Since at the point $x = \xi, y = \eta$ the function f have the partial derivative, then

$$f(x, y) = f(\xi, y) + (x - \xi) f'_x(\xi, y) + \alpha(x, y) (x - \xi), \quad \alpha(x, y) \rightarrow 0, \quad x \rightarrow \xi,$$

$$f(x, y) = f(x, \eta) + (y - \eta) f'_y(x, \eta) + \beta(x, y) (y - \eta), \quad \beta(x, y) \rightarrow 0, \quad y \rightarrow \eta.$$

In particular, for $k = 0, l = 0, x = 0, y = 0$, from (3.1) we get

$$\begin{aligned}
&mn \left[f\left(\frac{1}{n}, \frac{1}{m}\right) - f\left(\frac{1}{n}, 0\right) - \left(f\left(0, \frac{1}{m}\right) - f(0, 0) \right) \right] \\
&= m \left[\frac{f\left(\frac{1}{n}, \frac{1}{m}\right) - f\left(0, \frac{1}{m}\right)}{\frac{1}{n}} - \frac{f\left(\frac{1}{n}, 0\right) - f(0, 0)}{\frac{1}{n}} \right] \\
&\xrightarrow{n \rightarrow \infty} m \left[f'_x\left(0, \frac{1}{m}\right) - f'_x(0, 0) \right] \xrightarrow{m \rightarrow \infty} \frac{f'_x\left(0, \frac{1}{m}\right) - f'_x(0, 0)}{\frac{1}{m}} \rightarrow f''_{xy}(0, 0), \\
&\lim_{n \rightarrow \infty} \frac{\partial}{\partial x} S_{n,m}(f; x, y) \rightarrow \frac{\partial}{\partial x} f(x, y) |_{x=\xi}, \\
&\lim_{n \rightarrow \infty} \frac{\partial}{\partial y} S_{n,m}(f; x, y) \rightarrow \frac{\partial}{\partial y} f(x, y) |_{y=\eta}, \\
&(\xi, 0), (0, \eta), (\xi, \eta), \xi, \eta \neq 0.
\end{aligned}$$

After some standard calculations, we have

$$\begin{aligned}
&\frac{\partial^2}{\partial x \partial y} S_{n,m}(f; x, y) = mne^{-nx}e^{-my} \\
&\quad \times \sum_{k,l=0}^{\infty} \frac{(nx)^k (my)^l}{k! l!} \left[\frac{1}{n} f'_x\left(\xi_{k,n}, \frac{l+1}{m}\right) - \frac{1}{n} f'_x\left(\eta_{k,n}, \frac{l}{m}\right) \right], \\
&f\left(\frac{k+1}{n}, \frac{l+1}{m}\right) = f\left(\frac{k}{n}, \frac{l+1}{m}\right) + f'_x\left(\xi, \frac{l+1}{m}\right) \cdot \frac{1}{n} + \varepsilon_{k,n} \cdot \frac{1}{n},
\end{aligned}$$

$$f\left(x, \frac{l+1}{m}\right) = f\left(\xi, \frac{l+1}{m}\right) + (x - \xi) f'_x\left(\xi, \frac{l+1}{m}\right) + \varepsilon(x)(x - \xi),$$

$$f\left(x, \frac{l}{m}\right) = f\left(\xi, \frac{l}{m}\right) + (x - \xi) f'_x\left(\xi, \frac{l}{m}\right) + \theta(x)(x - \xi),$$

$$P(x, y) = f(\xi, y) + (x - \xi) f'_x(\xi, y), \quad g(x, y) = \alpha(x, y)(x - \xi),$$

$$\frac{\partial}{\partial x} S_{n,m}(f; x, y) = \frac{\partial}{\partial x} S_{n,m}(P; x, y) + \frac{\partial}{\partial x} S_{n,m}(g; x, y),$$

$$\frac{\partial}{\partial \xi} S_{n,m}(g; \xi, y) = \frac{e^{-n\xi} e^{-m\eta}}{n\xi m\eta} \sum_{k,l=0}^{\infty} \alpha_{k,l}(n, m) (k - n\xi)^2 (l - m\eta)^2 \frac{(n\xi)^k}{k!} \frac{(m\eta)^l}{l!},$$

where $\alpha_{k,l}(n, m) < \gamma(\delta)$, for $\left(\frac{k}{n} - \xi\right)^2 + \left(\frac{l}{m} - \eta\right)^2 \leq \delta^2$.

We write

$$\begin{aligned} & \sum_{|k-n\xi| \leq n\delta} (k - n\xi)^2 \frac{(n\xi)^k}{k!} \sum_{|l-m\eta| \leq m\delta} \alpha_{k,l}(n, m) (l - m\eta)^2 \frac{(m\eta)^l}{l!} \\ & + \sum_{|k-n\xi| > n\delta} (k - n\xi)^2 \frac{(n\xi)^k}{k!} \sum_{|l-m\eta| > m\delta} \alpha_{k,l}(n, m) (l - m\eta)^2 \frac{(m\eta)^l}{l!} \\ & + \sum_{|k-n\xi| > n\delta} (k - n\xi)^2 \frac{(n\xi)^k}{k!} \sum_{|l-m\eta| \leq m\delta} \alpha_{k,l}(n, m) (l - m\eta)^2 \frac{(m\eta)^l}{l!} \\ & + \sum_{|k-n\xi| \leq n\delta} (k - n\xi)^2 \frac{(n\xi)^k}{k!} \sum_{|l-m\eta| > m\delta} \alpha_{k,l}(n, m) (l - m\eta)^2 \frac{(m\eta)^l}{l!} \\ & = A_1 + A_2 + A_3 + A_4. \end{aligned}$$

Obviously,

$$\frac{e^{-n\xi} e^{-m\eta}}{n\xi m\eta} |A_1| < \gamma(\delta) \frac{e^{-n\xi}}{n\xi} e^{n\xi} n\xi \frac{e^{-m\eta}}{m\eta} e^{m\eta} m\eta = \gamma(\delta).$$

Denoting

$$\sup_{\substack{x \leq \xi \\ y \leq \eta}} |f(x, y)| = M(\xi, \eta)$$

and taking into account that

$$\begin{aligned} \alpha_{k,l}(n, m) (k - n\xi)^2 (l - m\eta)^2 &= nm (k - n\xi) (l - m\eta) \left[f\left(\frac{k}{n}, \frac{l}{m}\right) - f(\xi, \eta) \right] \\ &\quad - (k - n\xi)^2 (l - m\eta)^2 f''(\xi, \eta), \end{aligned}$$

we obtain

$$|A_2| \leq \left[2\xi\eta M(\xi, \eta) + \xi^2 \eta^2 \left| f''(\xi, \eta) \right| \right] \sum_{|k-n\xi| > n\delta} \sum_{|l-m\eta| > m\delta} n^2 m^2 \frac{(n\xi)^k}{k!} \frac{(m\eta)^l}{l!}.$$

From Lemma 2.3, we conclude that

$$\sum_{|k-n\xi|>n\delta} e^{-n} \frac{n^k}{k!} = O\left(e^{-\frac{\delta^2 n}{3}}\right),$$

$$\sum_{|l-m\eta|>m\delta} e^{-m} \frac{m^l}{l!} = O\left(e^{-\frac{\delta^2 m}{3}}\right).$$

Since

$$f(x, y) = O((x + y)^u), \quad x, y \rightarrow \infty,$$

$$\alpha_{k,l}(n, m) (k - n\xi)^2 (l - m\eta)^2 = O\left(\left(\frac{k^{u+1}}{n^{u-1}} \frac{l^{u+1}}{m^{u-1}}\right)\right),$$

$$|A_3| \leq \gamma(\delta_1) O\left(\frac{k^{u+1}}{n^{u-1}}\right).$$

In the same way we can prove that

$$|A_4| \leq \gamma(\delta_2) O\left(\frac{l^{u+1}}{m^{u-1}}\right).$$

This completes the proof of Theorem 3.1.

References

1. Agrawal, P.N., Kajla, A.: *Szasz-Durrmeyer type operators based on Charlier polynomials*, Appl. Math. Comput. **268**, 1001–1014 (2015).
2. Agrawal, P.N., Gupta, V., Sathish, A., Kajla, A.: *Generalized Baskakov-Szasz type operators*, Appl. Math. Comput., **236**, 311–324 (2014).
3. Aral, A., Gupta, V.: *Generalized Szasz-Durrmeyer operators*, Lobachevskii J. Math. **32** (1), 23–31 (2011).
4. Aral, A., Inoan, D., Rasa, I.: *On the generalized Szasz operators*, Results Math. **65** (3-4), 441–452 (2014).
5. Bernstein, S.N.: *Demonstration du horne de Weierstrass, fondee sur le calcul des probabilities*, Commun. Soc. Math. Kharkow **2** (13), (1912–1913) 1–2.
6. Duman, O., Ozarslan, M.A.: *Szasz type operators providing better erroe estimation*, Appl. Math. Lett., **20** (12), 1184–1188 (2007).
7. Gadjeiev, A.D.: *Theorems of the type of P.P. Korovkin's theorems*, Mat. Zametki **20** (5) 781–786 (1976) (in Russian), Math. Notes **20** (5-6), 995–998 (1976) (Engl. Trans.).
8. Gadjeiev, A.D., Ispir, N.: *On a sequence of linear positive operators in weighted spaces*. Proceeding of IMM of Azerbaijan AS. Math. and Mech., **11** (19), 45–55(1999).
9. Gadjeiva, E.A., Gasanova, T.Kh.: *Approximation by two dimensional Bernstein-Chlodowsky polynomials in triangle with mobile boundary*. Transaction of NAS Azerbaijan, **20** (2), 47–51(2000).
10. Hardy, G.H.: *Divergent series*, Oxford, 396 p. (1949).
11. Kantorovich, L.V.: *Sur certains developpements suivant les polynomes de la forme de S. Bernstein*, I, II, C.R. Acad URSS, 563-568, 595-600(1930).
12. King, J.P.: *Positive linear opeartors which preserves x^2* , Acta Math. Hungar, **99** (3), 203–208 (2003).
13. Mammadova, A.N., Abdullayeva, A.E.: *Approximation theorems for Bernstein-Chlodowsky and generalized Szasz operator*, Advances and Applications in Mathematical Sciences, **12** (3), 137–149 (2013).

14. Mammadova, A.N., Abdullayeva, A.E.: *On order of approximation function by generalized Szasz operators and Bernstein-Chlodowsky polynomials*, NAS of Azerbaijan Proceed. of Inst. of Mathem. and Mechan., Baku, **38**, 3–8 (2013).
15. Sucu, S.: *Dunkl analogue of Szasz operators*, Appl. Math. Comput. **244**, 42–48 (2014).
16. Sucu, S., Ibikli, E.: *Rate of convergence for Szasz-type operators including Sheffer polynomials*, Stud. Univ. Babeş-Bolyai Math. **58** (1), 55–63 (2013).
17. Stancu, D.D.: *On a generalization of the Bernstein polynomials (Romanian)*, Studia. Univ. Babeş-Bolyai Ser. Math.-Phys. **14** (2), 31–45 (1969).
18. Szasz, O.: *Generalization of S. Bernstein's polynomials to the infinite interval*, J. Research Nat. Bur. Standards Sci. **45** (3-4), 239–245 (1950).
19. Totik, V.: *Uniform approximation by Szasz type operators*, Acta Math. Hungary, **41** (3-4), 291–307 (1983).
20. Zygmund, A.: *Trigonometrical series*, Warsaw (1935).